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QUESTION 1

Which of the following is the client-side logical port of a board in standard mode?
A. ODUKLP-n

B. RX/TX-n

C. ClientLP-n

D. n(Nn/OUTn)-OCH:1-ODUk:m-ODUp:q

Correct Answer: B

QUESTION 2

What are the wavelengths of the OSC channel used by the ST2 board?
A. 1510nm

B. 1491nm

C. 1511nm

D. 1471 nm

Correct Answer: C

QUESTION 3
Which of the following statements about the Service Package is incorrect?

A. You can configure service package in two modes. One is to configure boards in batches, and the other is to configure
each board.

B. Service package enables one-click configuration of typical services by issuing multiple configuration commands in
batches, facilitating product deployment commissioning and reducing maintenance costs.

C. The Service Package can configure the working mode, service type, cross-connection, and port type in batches.
D. Currently, Service Package is available to the TOA, TOX and TSC boards.

Correct Answer: D

QUESTION 4
The protocols used in ASON are RSVP-TE, and LMP.

A. True



B. False

Correct Answer: A

QUESTION 5

Which of the following statements about Flexible ROADM is incorrect?

A. Improves spectrum utilization and meets the requirements for flexible scheduling in the 100Gbit/s era.

B. Flexible ROADM is compatible with existing networks.

C. The WSMD2 board supports the Flexible ROADM configuration.

D. The Flexible grid technology can flexibly set bandwidth and support flexible bandwidth allocation and scheduling.

Correct Answer: D

QUESTION 6

Before querying bit errors and optical power on the U2000, you need to perform the () operation. Otherwise, the
corresponding data cannot be queried.

A. Enabling the NE Performance Monitoring Time
B. Creating the logical fiber

C. Synchronizing NE data

D. Configuring data

Correct Answer: C

QUESTION 7

Which of the following alarms trigger optical line protection switching?
A. POWER_DIFF_OVER

B.R_LOF

C. MUT_LOS

D.R_LOS

Correct Answer: A

QUESTION 8



In the scenario where the non-convergence OTU processes OTN standard signals, both A and B are WDM sites. The
OTU at station A accesses four channels of R_LOS signals on the client side. After being processed in the middle part
and on the WDM side of the OTU at station A, the alarm signals are then sent to station B. The ODUk_PM_AIS alarm of
the corresponding channel is generated in the middle part of station B. The ODUk_PM_AIS alarm is detected in the
client device.

A. True
B. False

Correct Answer: A

QUESTION 9

The OSN 1800V supports the following packet protection features:
A. Tunnel APS

B. LAG

C.TPS

D. PW APS

Correct Answer: C

QUESTION 10

The OD system monitors the main optical path performance in each optical multiplexing section (OMS), which of the
following items are monitored?

A. whether the line loss exceeds the design end of life (EOL) value

B. whether a fiber cut occurs on the main optical path.

C. whether the optical power of the transmit-end OA board is out of the permitted range.
D. whether the line loss compensation is out of the permitted range.

Correct Answer: A

QUESTION 11

Before the optical power commissioning of an ROADM board, you need to configure virtual optical-layer services.
Otherwise, the ROADM board blocks all wavelengths by default.

A. True
B. False

Correct Answer: B



QUESTION 12

When creating new NE, which of the following Configuration Mode can be selected?
A. Initialize and Manually Configure NE Data

B. Download

C. Upload

D. Copy NE Data

Correct Answer: D
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